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CATE Alc5:. A7
9 —10= 12 —4 =
6 +7= 52 +(-2) =
9D — (=2) = (~9)) — 7=
10-1= o —7=
8% — (-8) = 27+ (-10) =
6V +(-2) = (-9 —(=5) =
(—8) 2 +(-10) = (3 = (-9) =
16D+ (=2) = (-10)7> -9 =
(D= (=8) = (9 -9=
30D +(—4) = 40D —9 =
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ZEL AICG: A7
9’ -10="71 152 —4=(-3)
6> +7 =43 52 +(-2)=23
9 - ()= = =25 (9P =7= (-2) = (-657)
10-1=9 9 7= (_%): (—62)
& (-8) = 72 27+ (-10) = (-5) = (-9)
6+ () = ()= (1) (0" — (-5) = 86
B+ 10 = (o) = (9%) (32— (9= 18
1D 4 (=2) = (1) (-10)? -9 = (—?(9)(9)) = (-8 19090
D= (8) = =8 (9D =9= () = (83)
34 (4 = (-3 = (-35) 4D 9= (-2 = (-83)
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